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,q.nswer ! l of ihe lirllorving questions in the sprce provicied. Show .rll work ru prrrtial
credit n)ay be given. Answers wilhout juslifiraiion, oven if they al'e corrcct. rvill carll ncr
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2. (2 pts. each)

(a) Find the average ralue of the funotion f (s) : r' - 25 on the inlerval [2, 4].
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(b) Find the average value of the funliion "f(') = snr(e) on the interval
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Answer all of the follorving qucstions in ihe space provjded. Show ail worh as parna_r

credit may be given. Ans$.ers ldthout justificatiou. cl,en ifthcJ are correct. $ill earD no
credtt,

1. (4 pts. each) Use the Fundanental Theorern of CalcLdus to evaluate the foilowing definite
integrals
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2. (2 pts. cach)

(a) Find the dverage value of the tunctiol i(r):a3 1on the nrt€rva.l I-1,21.

to, x3+t /v
(b) Find the average value of the function /(r) = cos(r) 1 on thc nrterval I0.,r/21.
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Ansrver all of thc following questjons jn ihe space provldecl. Shorv all $,.ork as partral
credit nrarv be givcrr. Ansrvers \r.jthout jLLstification, -"r,en iI thev are correctj rvil earll no

1 ('1pts. each) usc the Fundarnental rheorem of carcurus to e\"aruate the iollowing dcfinite
integrals
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value of thc function J(r) : snr(2r) on the inierval [0, n/2].-t
l'iirorllx=3^[ ^ z.
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2. (2 pts. each)

(a) Find the alcras€ value of the functn,n /(r) : I - r? on the inteNat {0. 2l
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